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' PART-I = ‘ BOOKLET Q
CHILD DEVELOPMENT AN D PEDAGOGY

1.

A child whe uses both its hands to

hold a toy, gradually holds the toy

* with its fingers. This can be best

explained by this developmental
principle.. .

(1)‘ Interaction

* (2) Development is predictable

(3) Individual differences
(4) Development proceeds'frc_:rn

general to specific
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Comparatwely, emaLwns shift
easilyin.......... e _

(1) chlldhood -

(@ mfancy
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(4) plﬂwl‘ty
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/ The mod1flcat10n of ex1st1r1g |
" knowledge structures as a result of
exposure to new information or
experiences is .......... '

(1) accommodation
i (2) assimilation
(3) schema
~ (4) equilibration
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4. ' ] A child of class I obeys the orders of

“the elders to avoid punishment. The
child is in this stage of the
Kohlberg's moral development.

(1) Stage I of premoral level °
(2) Stage II of premoral level .

(3) Stage III of cthehtion_al o
¥ morality _
(4) Stage IV of conventional

- morality
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One‘of the following perspectives
propoeses that all children have an
~innate language acquisition deV.iCE."
which is responsible for language
acquisition called the ........... -
it 1)‘ nativilst:perspective
" (2) humanistic pers’pectivé
(3) behavioristic perspective "

{4} socio-cultural perspec_i:ive
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/ One of the following speaksfahout*

the social expectations.for évery
stage of developmente=, *

(1) .developmental'tashes

(2) developmentalfiazards

(3)l confligts, -

- (4) cogmtwe ab111t1es
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'Pick the correct statement frorn the
followmg
(1) Physical health is 1mportant -
_ than mental health. ' |
(2) Mental health is importélnt than
- physical health. ,
(3) Physical and mental health are
interrelated and both are
1mp0rtant .
(4) Mental health ig. 1mpurtant for
intellectuals and physical health ‘
is importagitfpr tabourers.
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The performance of a studentisless
- than his aptitude in Mathematics.

(1) extra coaching |
(2) training in memory techniques
(3) best teaching | |
(4) guidance )
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‘Predlctlon is the characterlstlc of

the following psychologlcal concept

- (1) Interest

(2) Attitude

(3) Creativity |

(4) Aptitude
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(1) wpsn

(2) 20

(3). S0

(4) Sire Fado

A classroom teacher would like to | :
‘ ] : 12 Leammg outcome depends upon the
_know the opinion of class X students |/ - |

on certain’ issues. The appropria-‘té

 method to know the 0pm1on is R P

(1) case study

' (2) observation

(3) inferview

(4) attitude
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Relatmn between 1nte111gence and
creatlwty 18 i

(1) positive

(2) négative

(3) no specific relation

(4) positive in students havmg an

. above average 1.Q.
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| following.

(1) learner, learning matemalﬂ

o

learnmg process and teacher
(2) learnlng materlal learning
process and teacher
(3) learner, learning matenal and

teacher

() learning process and teacher
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| }é One of the following methods is inoref-

suitable to teach the hetefogenous

group of students for se1f~paced -

. learning. ‘
(1) lecture method

| (2) historical m’ethod

(3) programmed,
‘method ‘
(4) loud reading method o
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A chlld lS not able to learn a task N
-properly because of nonattammeﬂi;, '

of age. The learning factor involved |

18 i
(1) cognitive

(2) personal’

'(3) environmental

(4) social
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(3) S0 .

(4) >>aes
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15.
| _ of this school.
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"Law of exercise" is the contribution -

(1) Behaviorism

(2). Censtructivism

(3) Gestalt school
(4) Psychoanalysts
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16. Three students .ﬂ{_g’]aes IX stand in
,1St’ )

interélfanigeably in all their

gnid .:and- . 8rd

achigvenient tests. All the time they

_fe}el jealous of one another.

In this case, the teacher needs to
% concentrate on this domain for then- .

‘ healthy development

(1) conative
(2) affective
(3) psychomotor

| ‘.(4) cognitiVe .
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17.' ‘Involvement of the learner ...
(1) is active in R—S conditioning

than in S-R conditioning

(2) is active in S-R conditioning |

than in R—5 condltlonmg

_(‘3) is active in both S-R and R-S

.~ conditienings . . -
" (4) is passive in both S— R and R—S
7 conditionings
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18. Essentlal component, of learnlng 15 )

(1) experience
" (2) teaching
(3) objectives
(4) guidance W
egEsed’ BTN BOMNeLs et
pcﬁl) endine : '
(@) &%
3) o, |
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Ac(‘ﬁi'fiing to Vygotsky, childrén-'é

pself- directed speech is called .......... '

“l1) private speech
(2} egocentnc speech
(3) culture-oriented,speeéh *
(4) social speech
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Z/A teacher and two to four student
 form a-collaborative g‘roup and taki
| turns in leading dialogues on th
content of a text. It is called ...........
(1) reciprocal teaching
" (2) remedial teaching '
(3) extended téachir;-g
(@ cooperative learning
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21. A student .of classV has learnt inany"
' - things when the: class teacher

appremated the behavior of his
classmates. The learmng theory
involvedis ............... '
(.1) insight leafning
(2) social learnmg * _
(3) instrumental condltlonlng

(4) classical cgndltlomng
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22.

23.

Change in the neurological system

of a person due to the process of .

memory is known as .
(1) engram

(2) genetical memory

~ (3) biogenetical memory.

(4) liﬁguistic meémory
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A class VIII rural student learns the

- periodic table in a similar fashion to.

leaming 'VIBGYOR?, the coloui's__ of,

~the rainbow. The. téchhiq‘ue'-

invelved in this learningis ...{.2%,

(1) mnemonics

(2) paired assoc1at10n

 (8) ideas assoc1atmn

(4) word assocmtaon

20268 ascsrsw m&@m@ 2.5 rRord :)csoga
B0l cpm"a%aﬁo Botiseiss VIBGYOR' &

- DoRD 3%&0@55 DT oﬁo‘.ﬁég

0 BeoboRgierts. éaea%oboéswbo&

&y 835

. (1) Sar2E,

(2) oty oo

(e ot

w-2 1/TET-1‘11-EMITM

4) 55 Bedgo

p

BOOKLET Q -

To carry out the prov1swns of the

RTE Act, 2009 fundlng is the

responsﬂolhty of e, .

(1) the central governmént

"*(2) the state government

(3) SSA and RMSA
(4) both

: governments

central ana state
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25.

As per the NCF-200_5, assessment

atClassIand II 18 .ot

(1) no test in any form -

. (2) oral test

(3) a sii'nple written or oral test

(4) based on the syuabus
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26, - Oﬁe of the following indicates the
 learner's higher cogmtlve ability.

" (1) Retention
(2) Reasoning

(3) Imitation
(4) Obgervation

200 TOE 13 wpphd eBY ToEs |
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One of the folloWing is the reason for

learning disability. - o

(1) Poss'es_sing'I.Q. less than 70 .

_ (2) Inappropriate teaching

‘ (3) Comitting errors in solving the
pmblems ' '

N (4) Defect in the perceptual process
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(2) aS’Bcpb RO Totoe
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Innovative way; of pi"oble'm selving

is mostly observed in this learnmg
(1) S-R dondlitioning
(2) RS conditioning
(3)“Imsight learning
(4) Social learning’ .
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B) eoob Sy etiico
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One of the following actlons of a
teacher indicates that he is a good

1eader

- (1) doing fhings--right _

(2) doing the right things

~ (3) setting the things right
' (4) asking to do right things
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A 'c’:hild comforts anothef child who
is crying by offering her toy. The

behavior' of the child who tried to

“comfort the other chlld represents

(1) social development |

(2) social - and emotional

: developmentr

3) 'eplotional_devel'opmeht :

(4) é-gghitive development
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| PART-III
LANGUAGE II - ENGLISH
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Choose the correct word to fill in the
£ blank in the sentence.

66.- To make the past Derfect tense we
use this helping verb.

(Clt;pé)er is ... useful.l metal. (1) have
e (2) had_

- (3) the '/(S)Thas-
4 any (4) having

. I forget his name.
In the above sentence the
underlined wordis a :

(1) noun

(2) verb =

(3) conjunction
(4) pronoun

..........

Identify the correct sentence.
(1) How far your house it is from
here.
(2) You are doing that why?
-(3) How far is it from here to your
house?
' (4." Where you are going now.

& Choose the correct word to ﬁll in thlu
blank in the seritence. J
Rama can speak .............
(1) fast
(2) wonderful

- (3) fastly -
(4) severely

If you combme the- followmg two
sentences,
"a) Heis ‘;fﬂ;ng ‘
b) He'vamwork hard.
Yauuillget -
@iiHe can Work hard because he is
+ strong.
Y(2) He is strong when he can work
hard. ‘
{3) Though he 1s strong, he can
work hard. '
{4) Although he can Work hard he

15 strong.-

65.

y R

71

W-21/TET-111-EM/TM
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67. The opposite of 'equality'is
,(1) unequality
(2) disequality
" (3) nonequality
(4) inequality
?/ Identify the correcﬂy spelt word.
(1) accomodapion
“A2) .accon}mnﬁatlon

~ (3) "agomumipdation -
(4) “acternmodetion
% " (hodse the correct word to fill in the
%, ‘blank in the sentence.
" We went . the market last
' Su-ndajr.
(1) up
(2) onto
_(3) to
(4) off
CPoose the correct phrase to fill in
tHe blank in the sentence.
living here since 1999
_(1) have been
(2) has been
(3) are being
(4) have being

Identlfy the posmve degree of the
~ sentence. :

Raju is taller than Amdr

(1) Amar is not tall as Raju.

(2) Amar is not so tall as Raju.
- ((3) Amar can be tall like Raju.
' (4) Amar is as tall as Raju.
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72, Identify the correct’ questlon tag' for
the statement.
Your brother is a teacher,
(1) ishe |
~(2) isn'tit?
(3) isnthe.
(4) isn't he?

What is the meaning of the word
underlined in the sentence?

The water glittered in the sunlight.
(1) shone

(2) shine

13) shown

(4) shining -

78.

If"you combine the following two |

sentences,

a) She likes English. .

b) She likes Mathematics.
You will get :

(1) She not only likes Enghsh buf

also Mathematics.

_A2) She likes not only English, ]}ut J -

also Mathematics.
(3) Not only English but a!so she
likes Mathematicge, ‘¢

(4) She likes Englishdrd not only

Mathematics.
75, The ‘rep'orted‘ form of the sentence,

The tea:rher said to the pupﬂs
"Listem.", 19

..............

(1) The teacher sald the pupils to |-

listen.

- (2) The teacher told the puplls_ f

- listen.
- {3) The teacher asked the pupﬂs to
listen.

(4) The teacher suggested the.

pupils to listen.

W-21/TET-111-EM/TM
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76. Identlfy the questlon to get the
. answer.

Yes. We go there every year.
(1) Did you been to Ooty?
_ (2) Have been to Ooty ever? .

- (&Y Yours sincerely,
- (2) yours faithfully

«3) Yours faithfully)”
(4) Yours' faithfully,

(3) Did you go to Ooty never?
(4) Have you ever been to Ooty"

In a letter to an offlcﬂr the
‘subscription'is | ' '

= Iden'ti’{_y' ‘e correct sentence that
confains4ll the words in the box..

" _A"8uty clouds, makes, the, the, us, for

»(1) The sun makes us for the clouds.
(2) The sun makes the cl__ouds'for us.

(3) 'The clouds makes the sun for us.
(4) The sun clouds makes for us.

}8/ Read the four parts of a sentence.
They are marked A, B, Cand D

A) because it was 1nterest1ng
By 1nterested in the book.

C) that he could not put it down

D). he was so

The correct sequence of the partsis :
((‘1) D), B),C), A)

(2) B),C),A), )

(3) A),C),B),D)

(4) D), C), A), B)

(151 -

P.T.O. -
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80 to 84 : Read the following pessage'and answer the questions given beiow. '

John Ruskin says "All books are divisible 1nto two classes, the books of the
hour and the books of all t1me

Similarly some books are read by 95% of people for some years and then
“they are virtually folrrgotten‘.,v Take for exeﬁple, fdetective"-novels. We may not
“have heard about' the authors of detective novels like Erle Stdnley Gardner.

f'&lthough 'the taste of readers is changing, 5% of people continueim read 'claesics'.

Mark T'wain said "A classic is a book which people praise but don't read.”

Books are good compamons and good counsellorss The_? are hke good friends.
As a good friend walks in When others walk eunt; hueks also Walk in to console

you. They offer the best solace you think of

fé- According to Ruskin, books can be/ 94/ According to this jjassage, ......... _
~ dividedinto ....... ,‘ , L (1) amajority of people read classics .
(1) somecategories | . % _' - (2) everyreader reads classics

> (3) more than half of the readers -
read classics -

" (2) three cetegories

(‘\ “u 8 .l
(3) four categlorles >, (4) 2 small percentage of people read
(4) two categorips, ./ .

, | classics ‘
' %‘/ Accqrding:cai;hj«e’ passage, ........... , %8/ ’I;he writer of this passage cempar_es_'
(1) som@hooks are read and| - bboksto...... :
' ﬁe,l'gfiﬁeﬁ : - ' (1) friends -
(A wery few books are read but (2) classics
' o (3) time

tt
forgotten (4) detectlves

(3) most of the books are read but -
‘ % The wrlter of this passage says that
forgotten
: - | . books can make US s :
(4) no book is read and forgotten (1) feel sad
’ L (2) feel better
(3) feel dejected

(4) feel serious

W-2U/TET-111-EM/TM -~ " [16]



_ % Language games can consolidate

87.

W-21/TET-111-EM/TM o

the pupils'skillsof ...... . -
(1) listening and speaking oinly
(2) speaking and feading only -

) (3 r'eading and writing onlj |
~ (4) listening; speaking, reading and

writing

We teach a supplementary reader

(1) learning pronunciation
(2) léarni_ﬁg syntax .
(3) extensive reading -

(4) intensive reading

‘Read the question in the box given

below :.

-Choose the correct word to4ill g

the blank.
Ravi goes to schoal ......"". bicycle.
a) by “*b) on

c) with-. \

'd)- over

" The above test item tests the ..........

(1) lexieal item

(2) knowledge

(3) skill

. (4) speech

88.

17]
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At sch'c)ols',.te'a_chers' conduct unit

tests, terminal exanﬁs and annaal

exams to ensure ...... . |

(1) continious and comprehensive
evaluation | |

(2) summative evaluation

| (3) diagnostic evaluation

(4Y formation evaluatibn®
In'mjcfoteaching, the_"sequen&e_ of
eventsis: i N - |
(1) Teat:h,el tpaihees. improve their
‘ gp‘ﬁ}éen English. |
1) Th—ey preparé-' a microlesson
plan, teach, get the ‘feedblack,
,. réplan and reteach. _
.(3) Th‘ej.r teach, gef the feedback,
' prepare a microlesson and
- reteach: | | ..
(4) The-y prepareanﬁcrﬁlesson plan
and irh;'}rove 't_he_ir teaching.” B
One of the basic elements of spoken
English' is ﬂueﬁc'y. Fluengy is :the
ability ofa speakéf ..... s | |

(1) topause at the right pl_dce while

speaking
(2) to speak fast
(3) to speak as fast as he can

(4) to speak as slowly as he can -

PT.O.



. PART-IV
MATHEMATICS

{There are three sectors in a pie-

BOOKLET @}

94, InaAA_BC1fL_ 90° and |B = 2[_

diagram. Ifthe angles of two sectors

are 80° and 140°, then the angle of
the third sectoris ....... e

25 DHTTO 6;_?5)@3@& P JTveo
Do, 800 medak 140° o Sewed
, Todis ERteS D00, WS B e
(1) 2200 (2) 60°
(3 140° (4) 80°
A 'cricket ball's cost is Rs. 36 and the
" costofa cricket bat is 12%% times that
of the cost of the cricket ball. The

cost of the cricket bat (in rupees) is ...

£§L§?5wo®¢6&‘ 36. @D erpS 1B |
208 S 12V Tuxy wonasd & (888 25°§e5 B,

55 (5. 08)) |
a) 450 (2) 350
(3) 550 (4) 650
S - 1 ¥ 3
The value of (1 “33_}.;.(12“?)

101 7
(D 150 (2) 1—5-0—

9 3
3 500 (4) R)H

W-21/TET-111-EM/TM
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then |C is JEION. '
&5 AABC S |A = 90°, |B = 2C @awss

|IC Qo535 s
(1) 15 (2) 30°
(3) 45° (4) 90°

The present age piia Tither is 42

- years and of hig sog 512 years. The -

ratio of ageaf the'father to his son 2

‘years agawiis ...........

Hol BRI (5505 DO Sk 42
BoIE e, 12 Bonsores wonss 2

| '.ﬁiﬂﬁg\)@e %o 0 S .3339@
1 7:2° - (2) 4:1 |
3)2:7 4 1:4 -

If 2 m. 60 cm cloth is requiréd for :
one shirt, then the cloth required for
7 shirtsis............. |

- (1) 14 m. 80 cms
- 42) 18 m. 20 ems

(3) 15m. 20 cms
(4) 16 m. 80 cms

25 T 2 8. 600,52, Totg eosomised?

T e els NORN0 TG weeenn

(1) 14 2. 80 Bo.2o.
(2) 18 3)::. 20 oo, -
(3) 15 2. 20 Zo.do.
(4) 16 3. 80 Bo.55.



97// The value of J1.44 x 6.25 1S ..........
J1.44 X 6.25 G3oo%), Dosd

(1) 2
@1
(3) 4
) 3

928. If x, v, z are any three rational

.........

numbers and if x>y,y >z, then
x >z .This propertj isknownas .....
(1) Law of Tricotomy |

(2) Transitive Préberty ,
(3) Associative Property

(4) Closure Property

X, y, 7 @ TD Bt estdan Sopd,

X>Y,y>2 eoad x>z epiood. O

Son08 Ko S
(1) DB s 60
1(2) Sofsbor e

(3) BT HBE

(4) éoﬁ’g)é‘.%» &0

---------

99. A échool has 560 students. If the

 number of girls s M42% of the |

~ number of boyis, 'th.éh the number of

girls in the &chool is ...............
w5 Ted 560 908 Dw?sdévm.geéa.

oS i»dse o w
205 & FETOE PO o

(1) 320 .
2) 80

(3) 70
(4) 490

' W-2U/TET-111-EM/TM
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100.. If a clock shlow's 8 o'clock, then the

-angle belween the two hands is

REaTER28" 8 Koty Dotk Has,
SgSea

(1) 240°

(2) 120°

(3) 145°

(4) 125°

-101. To represent equal numérical
values, same type of diagrqlﬁs are |
usedin ............... p S

' (1) bar diagranis
(2) pie diagrams
(3) sectors '
(4) picfographs
R Wopy Jeobons SPIeBE v
e Sanen SNGIFRcs JBEN
Nl 520, Do

%S (2) DY IT

(3) oo
(4) Be D
2. There are some bags, where 21 bags
are 'kept ine each ro’om-. If the bags
" are kept in 16's and 20's per room,
4bags areleft out. The total number
of bags that are there in all s .o

259, 106° 21 Tuiyss £, gy wFeo
SoD. & aJos b5y, 106 16 85 20
e Solwy S EEFO 4 e
Q0ADD Ao v Sogg
(1) 48 -
(2) 80

ey (3) 84
(4) 76

----------

(191



lyThe value of “‘1—7

o

105.

9 . [2-

47
7 5|18

9
17

3 4
x
[7 5
~117
595
117
595

595
117

(4) _595
117

] I

(L)

2)

(3)

The ratio between Rs 2 and 60 paise |,

5. 2 500055 60 e rwtés 23039@3
M1:30
(2)30:1 ok
3 10:3 5@
(4) 3:10 |

If one aﬁgle is the »ave;',_egé of the
othet two angles am'd the .d'ifference
between the greatest and least
angles is §0°, then the formed

tr1angle is eillled ...............

(1) anjsesceles trlangle
(2) an equilateral triangle

18} a right angled triangle .
(4) a right angled isosceles triangle

o5 1DToesos™ nE Seatns SoRDR Bots

Sere Boro0 wiask 10y, 505 Sere g |

R 600 e e (Bgesto

W-21/TET-1 11-EM/TM

(1) &% 5000 wrarv@dbec

(2) 28 Sdoerdu@ibes

(3) w5 e:ozagﬁm (Bgbeo

(4) 2.8 Ssoderro oo (B

,1‘

.

106.
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The difference between the largest

6 digit number and the smallest

5 digit numberis ....

| st eocde §)d 28 SopdD, s eeBe

2080 Dy Sopgo e B0

(1) 999998 4185
 (2) 888888 %
(3) 988888 g
) 989999

tclgold reopen on .

. The summer vagcation was declared

for all the s¢hobls from Aprﬂ 24, If
the vai:atmn is for 49 days then the

................

) YJune 11% -
f2) June 12%

“(3) June 10%

(4) June 13%°

) FEToUD DHobs 24 5 Dol WD - |
Depe BHcw, dopes 49 FrBs
FETOL D @veomze 26
(1) =, 11
(2) &5, 12

---------

A3) 5,10

[20]

4) o=5,13

If two-thirds, half and one-seventh
of a number is added to itself, the
result is 37. Then the number is

2535085 G, 2/3 1 P, SHEn S0ako
1/7 3 a0 es coc.s.’ps§> §§)aa‘:)55 cs=§) e
37 ecas, e 05

----------

162
Ne) o7

(1) 14“
97

(3) 18; -‘(4) 1537’4
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199. Theé value of a _'y,ehicle depreciates 112. The cost.of 4 dozen papers is Rs. 24. '
every year by 5%. If the pres‘.er_lt_E

value of the vehicle is Rs. 50,000,

then its value after two years (in

. TUpees) is ...l

£ SR G0, (5830 e . 50,000 |
@ BRSBTS Ve 5% SR |
Bk HoBHTBLY BEITH cs=20 QeoN

(CSJ“ 053) _
(1) 45,125 . (2) 47,500
- (352,500 - (4) 54,875
110. The center and eh_d points of an arc
' of a circlé are collinear. The arc is
called as ............
(1) diameter
(2) chord =~

(3) major arc
(4) semicircle

BOOKLET @ |
The cost of 1 score of papers (in

rupees) is.

ool ) RSN DO B, 24 eawd
2.5 ﬁsb&:.s‘ﬁé;’meée (d?e:é‘)
. (1) 40 '
(2) 20 .
(3) 10

- /(4) 42 NN | |
%The perimei‘é{"of a semicircle

AN Its
{m centuneters) 1S.

is ' diam-e‘ter

umgmnmmg‘emﬁmba eso»:scsaa

U arassn (oo,
RN RD TS0 QoY) D‘é@ i)ocsbé)e:-a, A rgo ' ( 65
Cyeson éé&oﬁmo»éemo;sm 7
- Wt ’ @) 14
(3) S intpotdon | 3) 22 .
@ egpgan - @ 35 %
111 If 2=2 andl % 3 then the valué 1/14 The value of 0.2727 ... +
a+b. 0.7373 ........ 18 i .
- of g 1S | © _
U | 0.2727..cocor + 0.7373...0.. D5
b g nBome S =3 wowss 2 pess (1) 1.001
a : b+ .
. ' (2) 1.01
3 2 - -
Wy @3 (3) 1.0202.........
3 P A ® 1010L......
P8 @ar __ : )
W-2UTET-111-EM/TM 21 - P.T.0.



METHODOLOGY

].}45/. The author of 'Pancha Siddhantika'
£ : U

-'ﬁnﬁa:)og SNy Evsba@és bv@o;szseam- '

(1) Aryabhatta

(2) Varahamihira
(3) Bhaskaracharya
(4) Brahmagupta
w5 BCOSE oSNy
(1) estygie

(2) SRR

(3) ity

@ (E257271053

- The terminal competency to be
achleved in Geometry at' the
- primary stageis ........... .

(1) to understand the types pf

trlangles '
(2) to draw a circle whesr r?!diué is

given -

(3) to draw an angle aqual to the

given anglé"

(4) to express the concept of a mrclel

and tec‘hmcal words associated

W1t11 1t

| ol 3‘?;.:250

W-21/TET-111-EM/TM

(1) (©ghon STvenis emmams Suosiown

(2) s axdyest e Adtoss

(3) 59y Eeanoodts BHrEReS Seana
fictoe

(4) %erass, o8 Sowedold Fogrds.

BT K0, De oo

BOOKLET @

117. Students are asked to .find‘the

various characteristics of a rectangle

by using a geometric box. The

teaching method adopted is the
(1 playway method

(2) problem solving method '
(3) Heuristic method_ 4 Lie |
(4) projéqf method

Hed 5050 Eg@;ébéﬁsnncia Bgssstse.
Sy, D SBPos SRSRD Dorde:
%589, 3@:33 2‘5565@ aCS@ -

4 {1) St B0
2) oy odmb e
- (3) wdRm S

118.

(4) &5 350

In the lesson plan presently being -

prepared in schools, the aspect to be

" indicated after content analysisis ..

[22]

(1) teaching learning activities:

C2) competencies to be achieved

(3) teaching learning material

(4) evaluation | | |
SSisge FoToud] O Solbnious,
S5, 55508 Dises T BT PO
Sels eoto -

(1) Shsogsssn Ko

(2) S0t el Fores

(3) S o

(4) w@§b§‘éo |



" BOOKLET @

11//' ‘Student verifies the outcome when | 120. To evaluate a text book as pef the
two fractions are multiplied". This ,
specification belongs to the objective Hunter's score card, the content is
R e | tobe assessed for ............ points. »
(1) understanding *© o i . .

(2) knowledge . ' ook 2,6 53 esgroorr 2.8 gD
(3) application o ' o |
@ skill - | SoreRetio :5ozsamaé iy DREIRRY
(Dot Pmess Korlosm B PdEYy | anowD wded Sausag
' i)c:vsg RERPEIT 40 E oFRs Dead | 150
el ‘ ‘ _
(1) e | (2) 250
(2) sgm B R
5 S | @
(4) Poragsas 1 @psdo

W-21/TET-111-EM/TM [23] | - - PTO.
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PART-V |
'ENVIRONMENTAL 5TUDIES ~ DOOKLET @

| 1%{ Examine the following
A) The tip of the tongue — sweet

taste .
B) The back of the tongue - sour
taste

C) The edges of the tongue — b1tter

taste

D) The middle ofthe tongue salty

taste
Identify the correct pa1rs
KOS R0 OoHRD.

N N

B) mrecl S0y -~ Deod

C) Trewy @o‘meam |

D) wrevSugigrlio - &p
(1) A),Cy o
(2) B),D)

(3) B),C) .

(4) A), D¥e™

. The first-aid kit in a classroom-,'_

contains tartaric acid, iodin®,

antiseptic lotion and potasgiuim

permanganate. The item/itgmig You
use to give first-aid to the vmtlm of
scorpion bite 1s/are A

(1) 10dine \

(2) potassium pefmanganate or

tartaric afid
(3). antiseptic otion
(4) antifeptic lotion and iodine -
SO OOt Bt Dioey s, iroes
agiesh, woolS, Deed: O &%5 bt

_ f"*":au?axobao eao"&ori%m &E0: DeoHedd é§§%
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Byt D35, Toberds AY éowﬁofb& Bs

| EHSITRCHD.

(1) e@wds

(2) rerlovoo ,acv&om%m Bl wm&g'

\ERVRAL
(3) Doeips 655
(4) QoeS 335 E%S b eao?wég

194, The number of playefs and extra
plavers present in a kabaddi'team
respectively are ... . '

'*‘23&83@553 2300 Tdn o000 @S
e:urw% oy ;’Jtiacom | ‘
(1) 5,2
2 6,4

s\\-‘c:a) 7,5
- (4) 8,2

124. Examples for pﬂlhnatlon by Water‘

and polhnﬂ;tltm by wind respectlvely
are .4 N

(B hvdnlla maize

R 2 Wh?at vallisneria

9 &) drosera paddy
A4) e1ch0rn1a p1st1a

I8 TP o0k, ™ o waﬁ sol
pUSSIS Pk éc‘mémw ORI veeevens
) pder, 2n,E /
(2) ﬁ‘zpam T 00
3) @ho, 98
(4) 0T8I, ol

1%: Skeleton of a man : bones : : skeleton
ofleaf: ........ _ : S
(1) chlorophyll
~(2) veins
(3) xylem
(4) stomata

B0 eslgonling ¢ Jisleo 1 DY
@ BORTDND 1 wreresine
(1) BErssam
@2) Lada0.
(3) oot
(4) spBorey

[24]
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126. A farmer collected 'sword suckers’

to grow in his.field. The crop is
- (1) potato ‘

(2) turmeric

(3) plantain.

(4) sweet potato

2.5 D, 635 Srood® ¥ HPoes BoBEds

hotes H¥Bomrt. B 3D New |
1) LOMTEES

(2) &85

NNB) o3 |

(4) Deits &oown

12’4 The skih diséase caused due to |-

vitamin deﬁciéncy 11 S
(1) Pellagra

(2) Eczema

(3) Acne

(4) Measles

- Deadisp o e S ;55&:5:3@
1) e
2) g
(3) Dioedsoen

‘ - (4) &y

. A farmer has a ﬁeld w&th sand soil

crop which cambé grown in his field.
(1) Turmeric), ' '
(2) Sugareane
(3) Chilligs
(4) Casuarma .‘
2.5 BHOI 500les &5 @“oéoess Faokde §®}6
e G0, & Susast Botontd ea;'a;g:o
BoeEs APDORRI,
(1) 330D
{2) Do .
(3) Qs
i R Slat

in coastal regions Suggest a suitable .

BOOKLET @

1/;¥A person wishes to stay in a forest

and study the 11fe of wild animals.

The type of the house he. has to live

(1) atent house
(2) amud house
(3) a stilt house

(4) ahut

D8 sbir, ©ED Snipd K800
ecizie 3053‘0?63;2?52’35% 53 TR Dots
zgcéés&}b-%’w@ '

(1) roweto ge

(2) Zogdgen

w3 mcﬁ*w '

o

(4) md‘;?; “

Ths- ahundant presence of these

_I"pl.;mts decreases the nitrogen

\ _'pe,rcentage in the air.

(1) legaminous plants
(2) plantains

(3) water hyacintﬁ_' 7

' (4) coconut L

B2 co‘o’)aq)&m e@::ye:; 8 B
%"650 ?éo?béoo&

(2) el .
(3)‘ri:>@>'@a§b .

lfll The gas that destroys chlorophyll in

plant leaves is

B0, agoeaéﬁ‘:) BHEOTY) THSO W
Ty

(1) CO,

2) SO,

(3) H,S

@ SO,

[25]
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132. Pick up the wrong statement with

reference to Water
(1) Itisnot an element
(2) It is a good conductor of
-electricity.
- (3) 2H,+0,— 2H,0.
(4) It has a cons't:ant'ratio‘ of
+ hydrogen and oxygen.
D33 vomchod B HEYHLESD -
(1) el Srelno 300
D) ea oD DTS
(3) 2H,+ 0,— 2H,0.
4) 552355 m@szsg EB%QES@ D@ oor
&0l

- 134, Examine the following statements.

1) Need not clean toilet daily.

' ii) White washing of a house to be
taken ﬁp periodically.

iii) Store the garbage in the dustbm v, 4

- only forever.

iv) Water and food vessels must be
covered with lids.

Identlfy the correct I:ﬂspnnses from

the following optitns.

@5& ?é‘sﬁuw 3 Ho50050s
i) e 358010 E?&:o %J@éﬁbbéatio
-Lg ’

‘119w a&é‘.’n ?)53’@58 o3 é@gﬁoc?%eaﬁojﬁ@“

1ii) D&, DT ST 3@‘9233&553

(OQJST:SOSPQ')

V) Q50 Hoda¥os &E'JGGCJCSDGU@ FBoP

WrSe P
SO e eeis loled.
(1) 1),1ii) (2) 1),iv)

,CE\(S) “ii), iv) (4) iii), iv)-

W-2UTET-111-EM/TM ~~ [26]
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1?4. Latitudes and longitudes on a globe

() léti_tudes are horizontal

_‘ imaginary lines and longitudes

are vertical imaginary lines

(2) latitudes are vertical imaginary

lines and longifudes are

horizontal im&g&h&r’y.lines -
(3) both '1atitudes and Iongitudes

are" hurh:@ntal 1‘mag1nary lines
4y bm;h latitudes and 10ng1tude=

: “wre vertical imaginary lines

. ﬁ:m:.iﬁe YFOE, "53?&3’:}3:@:- | .

(1) egcaue @cgomﬁoﬁswéﬁ_ et tpes
B0 Sronoes ey Adiowds
a5t |

¢ (2) egossons  despm  Adondi

&a:5%0pe0 0K 63;?@%‘5:0@3 e::ébm
Rtioeadsy &aisigpen

(3) ezros, égp\loé;soow SOl eiorm
Aasoesds e, |

(4) ‘eag“o%, 63:»0:3;\»@; BEET Doy
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'l%ramasabha' IMEANns ........... .
, (1) it is a meeting in wﬁic-h the
sarpanch and all ward members
- participate -
(2) it is a meeting headed by the
sellrpanch in which all the people

of a vi'llagé attend

(3) itis a meeting of sarpanch and

the upasarpanch 'with village
| secret‘:ary and other employées of
i';he grama pa'nchayat |

@) itis a meeting,headed by the

“sarpanch in which alrl"lwarc_i

members, youth associations |*

and caste heads attend | B
g ‘L[T‘Eé:» ‘oﬁ’ 25w
(1) frRostos 353605» U‘ﬁgﬁ&se:oédﬁ
| >EITWse
» (2) RtHoD @.::ﬁén |
: @m@mnﬁdﬁm‘oaﬁ
(3) wu,mgos emasgoE aBetatN

555850 q@cs@wmaosooma B0

PORNBLR e

(4) [rosthol ey, TR sEbottd, |

| CXoRe Hopores Dobain Bedrres
SRl

[27]

Shravanbelagola and 'Mahabah-

| BOOKLET @

puram the historical places are -
located respectively in these states.
(1) Andhra Pradesh Tarml Nadu
(2) Kerala Karnataka

(3) Tamil Nadu, Karnatakn,

{4) Karnataka, Tapfil'Nadu.

(@OrBIRY, (Bt @t TOBS
@ES-%"@JQMR&WQ@@G Kol

(1) SpbeSEs, soovmess

O)ES, sonios

13) v, Nomeoks

(4) sorec, B

. %The area of Indié-is .....

' (1) 3.28 million sq. kins
' (2) 32, 8m11110n sq kms .

(3) 3*28 billion sq. kms
(4) 32.8 bﬂhon 8q. kms

PPUETo G0, BTRR

(1) 3.28 20055 w805,

(2) 32.8 2590505 3,837, - .
(3) 3.28 HOS 9.307.

(4) 32.8 D05 .40,

- P.T.O.



138. Read tﬂe followix_;g’ aLnd identify the
. | correct pﬁi_r-: | ' |
A) Kuchipudi ~ Tamil ANa'Giu
B) Bhangra - 'Puﬁjéb |
C) Bhal;atanafyax.n_—Ahdhra Pradesh

Lécf."r TR WD Bomr e%‘é! w0 oQotod.
A) SPOGE - GRS

Bj EPow - ord

C) 2;56@:5;@50 ~ &S0 (55

(1) B), C

@ A),C)

(3) A), B) -
(4) B) only

139. Eastern and western ghlat®.of
peninsular pléteau megt h_é_r‘e;. :
(1) S_e_shachalaﬁhi]..ls"_ .
- (2) Nallamala gountains
(9 Nilgirighatains
(4) Pagidiills |
B, SRy Bsn 58 Mo s, 52y Bicisses
| Dot 3%, Sedrai |
(1) FpveoFotien
(2) Dgse SPodien
| (3) SefoSotes
(4) FbFoted

W-21/TET-111-EM/TM

 BOOKLET @
140. The hot deserts are situated between

these latitudes on eithér’ side of the

. equator.
ét—a;g‘;oocié TR0, PN O RERDT
B2 FTTA0L Bk KO
(1) 150 — 300 |
- (2) 30° - 45°
(3) 5°-15°

4) 0°~5° -
, ]% Health, reve_ritl_g, fire services and

education, bteléng to this category.
(1) Al fcit-'.e_:drdinary services. '
(2=l afe emergency services.
_(_3)".He'alth and fire services are
i emergéncy serv'ice‘s, revenue
. and education servicés_ are
ordinary services. |
' (4) Health and fire services are
ordinary sérvices; revenue and
education

‘services are

emergency services.
4

250, T, ey B9 Bobaka D5

RIED s GY Sdes "

(1) e, Jgetes Hdves

(2) coly mgaists Hived

(3) 3 080> HRFTHE Biven B
S5e0; TRER; B0k Dy Hives
PP wde '

(4) 305 900000 RIS v FF
oneo; SIS &80590 Qe Soes

eRBEBS Bide

(28]
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14?;/The popular narﬁe_s of Gopal-

Krishna Gokhalé and Dadabhai
Naoroji respecti\fely'are

............

(1) Iron man, Punjab Kesari

1(2) Grand ¢6ld man of India; Iron’

v

. man
(3)‘ Pﬁr;jab Ké's_ari; Sbcrates of

‘Maharasht_ra. '

(4) Soc_rates of Mahafashtra ; Grand |

old man of India - - -

Rare %fgﬁ‘aaém cvcoz;?g&a?a‘ééga &

i @a@s S wesem
' (1) egab:»:o msaﬁéxaa

(2) @c& a5w55 e.-sap qcﬂaoﬁ é&’;ab ;’»‘Dq

(3 302‘5@56,%@{35@&35 '
() sy F, ob 6.5 w5 of

yoldi® -

143,

- Nations Organization.

144,

BOOKLET | @

‘This is not an organ of the United'

(1) The.Secretariat'

(2) The General Assembly

(3) The World Health Organlzatlon

(4) The Internatmnal Court of
Justwe w

30 S5 5200 GBo, eso?ﬁ.’,m?cia

) sdmoowe N

(2) Segsenese |

(3) gssson e Seis e

4) eﬂomaﬂgoﬁm

Exam.ma the followmg and 1dent1fy

the :m:smatch
“A) Mud ho_use — Rajastan

" B) Igloo - Lake -

C) Sky sci'aper —Bigecity |

| ,@oé 3D 509900

A Bodqeg - oedS

29)

B) ii® - 358, _
C) | eat:ms; Sosiioe fsmc = igsio |
BT és:éa 2553 1090508

1 C) on_ly

@ Bonly . ¢

(3) A) only
4). C) and.-A)- :

. _'_'P.T.O.



© METHODOLOGY

BOOKLET @

1}6.

The prdduct of science is indicated

(1) the scientific methbd of inquiry

(2) accurﬁuléte_d and systematized
body of knowledge
(3) the scientific attitude

_ (4) gathermg of data

Degs g éé.’s_)@ & Do MO0
(1). %"*3053 s’atﬁ@é’s eﬁésqeq

(2) Srodanwds

| Tcteads e

(3) @0 20

Zw@oﬁ» E;‘?.’Joaacgo

(4) s bt

Most important initial step towards i

achievement of an aimis ........¢
(1) skill o | . -
(2) ability

(3) .. obj ecti\».'e-.

(4) goal

ééﬁsso (aim) 3@;&1:65 :;a b ma;;sam @qsm

-‘3‘33%0 _
(D Fobel
- (2) o

W-21/TET-111-EM/TM

@ exp

' 147. The method that helps in developing -

‘manipulative skills_amohg the

studentsis............

(1) lecture method

(2) historical method |

(3) laboratory method :

(4) léctufe cum dgm@"ﬁﬁffation
method

!Dwstigepéé oL ?ésﬁféé)wesm

N e e :;cg@

(1) i 550

(2) s'é@§;’3§e‘5

(3 pairime 558

148.

NOE

The arrangements that shows the
creatures living on the land s ........

(1) aquarium

(2) tgrrariuml :

(3) herbarium -

(4) vivarium
LPHTPE R0BERL BIHO
(1) 93@580330 .

" (2f Bgsowe

130]

(3) wdyBan0

(4) Iadcke
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/;}’/The plan meant for evalué%ng the

learning outcornes of the students in

the classroomis called .........

(1) unit plén

(2) subject plan

(3) lesson plan

.‘ (4) year plan -
e 08 Dmge e $8e,
‘}5:5"&3°§c§"éo Bonm0d BRS Eerey
(1) S Beros

" (2) Drol PrEOy

/(Z{ Ty BT

(4) O ewos

[31]

- —

~“BOOKLET" @

1)50./The evaluation that iz used for

grading purposeis called ........... g

(1) formative evaluation

- (2) summative evaluation

(3) diagnostic evaluation

(4) gra;ding evaluation,

BENBO z.svém _I.gfadjiig purpos’e)
;’m“@asom 3@@&; EHRTACD 958

/(ﬁ) m&wm@gm%osm y
: {-;_3)"@% Joeties ?:::or@§0§50

"l E’\&oﬁ Rareroiie |

P.T.O.
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Answer Q.No Answer Q.No Answer
51 1 - 101 4 H
52 - 2

0
|

54 |
55
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IIII“IMH'-II |

[
N

o
00

b
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